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A.
Angles around a point will always add up to 360°.
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The angles above all add up to 360°. 

40° + 140° + 80° + 100° = 360°

Because of this, if there is an unknown angle we can always find it.


                                                              

              





110( + 62( + 50( + 75( = 297(







x( = 360( – 297( = 63(
B.
Copy each diagram and fill in the sizes of the missing angles. 


Do not use a protractor.
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C.
The diagram below shows a playground roundabout from above. Five metal bars are fixed to the centre of the roundabout as shown. The angles between the bars are all the same size. 


What size are the angles between the bars?
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